BHCSI Intro Programming
Homework Assignment:  Risk

Eric has been playing lots of Risk in the dorms recently. Depending on certain circumstances, one of three things is going to happen:

1) He will lose.

2) He will win.

3) He will maintain the exact same number of armies and the game will last all night, so that everyone will be sleeping in class the next day.

In particular, Eric starts with a certain number of armies at the beginning of the game. Then, at the beginning of his turn, he receives a certain percentage of his armies for that turn. Finally, during that turn, he always loses a particular number of armies. (He stops attacking after he loses a certain number of armies.) Your job is given these pieces of input, to determine how many turns it will take Eric to win or lose, or determine that the game will never end!!! When determining the number of armies he receives on a particular turn, always truncate your answer. Thus, if the actual calculation with real numbers specifies that Eric should get 11.79 armies at the beginning of a particular turn, give him 11 armies instead. (Note: the math.floor() function should help you with this.)

Eric loses if the number of armies he has ever becomes 0 or negative.

Eric wins if the number of armies he has ever becomes 200 or more. (We will assume that he starts with more than 0 armies and less than 200 armies on his first turn.)

The game goes on forever if Eric has the same exact number of armies at the beginning of his second turn as he had at the beginning of his first turn..

For a win or a loss, you should print out the number of turns it took Eric to win or lose.

For a game that goes on forever, simply print the following:

Eric keeps the same number of armies and everyone stays up all night playing Risk and sleeps through class!!!

Sample 1: Input and Output

How many armies does Eric start with?

10

What percentage of armies does Eric receive at the beginning of each turn?

20

How many armies does Eric lose during each turn?

2
Eric keeps the same number of armies and everyone stays up all night playing Risk and sleeps through class!!!

Sample 2: Input and Output

How many armies does Eric start with?

100

What percentage of armies does Eric receive at the beginning of each turn?

20

How many armies does Eric lose during each turn?

2
Eric wins Risk in 5 turns!!!

Sample 3: Input and Output

How many armies does Eric start with?

10

What percentage of armies does Eric receive at the beginning of each turn?

20

How many armies does Eric lose during each turn?

4
Eric loses Risk in 4 turns!!!

